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M10C Exponents and Radicals

Lesson #5 - Working with Exponents (with Variable Bases)
1. Any ?'s from Lesson 4
2. Lesson 4 Quiz

3. Lesson 5 - Variable Bases

Simplify vs. Evaluate

Most of the problems done so far we have evaluated to a numerical value.

Sometimes the solution is not a nice numerical value and we just want to simplify.
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Integer Exponents (Variable Bases)

with rational bases.

We can simplify expressions with variables the same way we simplify expressions

Integer Exponents - Remember the three basic cases.
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Rational Bases:
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Variable Bases:

Practice - Ls 5 Assignment #1

Exponent Laws - Integer Exponents
When simplifying, the exponent laws are often used.
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Practice - Ls 5 Assignment #2
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Rational Exponents (Variable Bases)

Rational Exponents - Remember the basic cases
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Rational Bases:
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Variable Bases:
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Exponent Laws - Rational Exponents

When simplifying, the exponent laws are often used.
) 2
51 2 Q 3
e.g. 2.2 a = 334°D° (
: T s =(Ralh
K (€] = Q
Q b

)
=X -
= |

in

u.1|\_3

=2l b

(x2y)(x2y™) L
2a° bE‘
= xR 3' Q
Q

= XY
Practice - Ls 5 Assignment #3-5
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Solving Problems

Example:

A culture of bacteria in a lab contains 2000 bacterium cells. The number of cells
doubles every day. This relationship can be modelled by the equation N=2000(2)’,
where N is the estimated number of bacteria cells and ¢ is the time in days from the

moment the experiment began.

(a) How many cells were present for each amount of time?

N 20002 = 8000

e =000 (A) = 256 0n N

1ii/ two days ago
BT 200005
_ 2000 (5-\
(b) What does 7 = 0 indicate? soo
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